Calculus AB .
FTC 2 & Integral Review

Non Calculator

_ Let f be the piecewise linear function graphed below, for 0 < x <8.
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for Problems 1-3.
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2. Using the above graph, what is I[ f(x) +1] dx?
0
b 6 ‘
( Fix)dx + / | dx = o + 1L L) :@
v . b

3. 1fg00 = [ f (¢)dt, find
®

A) g(5)

g(s) ’/:r/(x)dx =@

B) 4'(5)

7"(5) =£(5) 10)

€) 9'(%)

g“(s) =+ (s) =@

Evaluate the Definite Integral. You must show all steps.
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10.  Use the Second Fundamental Theorem of Calculus to find F ’(x).
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Giraph of f

The graph of the function f shown above consists of two lines segments. Let g be the function given by g(X) = J-O f(t)dt.

(a) Find g(-1), g'(-1),and g"(-1).
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(b)  For what values of x in the open interval (=2,2) is g increasing? Explain your reasoning.
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()  For what values of x in the open interval (—2,2) is the graph of g concave down? Explain your reasoning.
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(d)  Write the equation of the line tangent to g(x) at x = -1.

y-9l=1) =9 L-1) (x+1)

"

y= 15 *0 (x+1)

g

‘-

\l



